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Mj?(z+Ljsin )= X

2

M 3?(Lj cos@)=-Mg +Y
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ded?e =YLjsin @ — XLjcos@ —no

v(t) dz(t)

[ka] M 0.262
Jp 6.02441*10"-4
[kg*m"2]
[m] Lj 0.08412
n 3.7859*10"-4
[Ns/rad]
[m/s"2] g 9.81
[m] z() -
[rad] 0 () -
[m/s] dz(t)/dt -
[rad/s] de (t)/dt | -
u -127 127

G(s)Llv(t)] = L[dz(t)]
z(0)=0

(5+£)—=-V(s)=sz(ss+&)
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&V(s)=1"Z(s)+scZ(s)
s°Z(s)=&V(s)-seZ(s)
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L =
n =3.7859*10"-4 [Ns/rad] £ 3.0
Jp=6.02441*10"-4 [kg*m"2] ¢ 0.038

4
i X = Ax+ Bu
dt
0 0 1 0
0 0 0 1
A=
0 0 -3 0
0 86.99734 0.3369788 —0.1596426
0
0
B =
3
—26.603588
[-240+60i ,-240-601 ,-2+0.4i,-2-0.4i]
[-975.5,-2357.7,-236.6,-44.7]
G(s)= g scilab
S+¢ 6 0.04[rad] 5°
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